
 

. 

 

SPARE - PARTS CATALOGUE 
 

POLARIS  
RZR 1000  (2017)  

 

 



 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

2 

 
1. Select the panel that interests you and go to the appropriate page catalog. 

 

SEARCH INSTRUCTIONS 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

3 

 

5. If you wish to order something please send us relevant 

Catalogue no. + Description 

 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

4 

CAB PREVIEW  

 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

5 

CAB PANELS 

 
 

ID Catalogue no. Description Qty  Page 

1 32S04U05S30 ROOF PANEL 1  7 

2 32S08U03S20 REAR PANEL 1  13 

3 32S08U03S40 LEFT DOOR 1  37 

4 32S04U05S10 FRONT PANEL 1  23 

5 32S08U03S50 RIGHT DOOR 1  56 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

6 

ROOF PANEL 

 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

7 

ROOF PANEL ASSEMBLIES 

 
 

ID Catalogue no. Description Qty 

1 32S04U05-30M005 ROOF PANEL ASSEMBLY 1 

2 32S04U05-30M004 ROOF PANEL HOLDER ASSEMBLY 5 

 
 
 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

8 

ROOF PANEL ASSEMBLY 

 
 

ID Catalogue no. Description Qty 

1 32S04U05-30M001 ROOF PANEL WELDED 1 

2 001001^32S04U05-30M005 w¦..9w twhCL[9 ά[9ah±Y!ά 1 

3 32S04U05-30M002 LEFT ROOF LEDGE ASSEMBLY 1 

4 32S04U05-30M003 RIGHT ROOF LEDGE ASSEMBLY 1 

5 32S04U05-30-005 RUGHT GUTTER LEDGE 1 

6 32S04U05-30-004 LEFT GUTTER LEDGE 1 

 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

9 

ROOF PANEL HOLDER ASSEMBLY 

 
 

ID Catalogue no. Description Qty 

1 32S04U05-30-006 ROOF PANEL HOLDER 1 

2 001309 PLASTIC NUT COVER OK 13 1 

3 001388 SELF-LOCKING NUT M8 1 

4 003322 RIVET WASHER 8 1 

5 001428 RUBBER WASHER 1 

6 001429 PLASTIC WASHER 1 

7 002121 SCREW M8x30 1 

 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

10 

LEFT ROOF LEDGE ASSEMBLY 

 
 

ID Catalogue no. Description Qty 

1 32S04U05-30W002 LEFT ROOF PANEL LEDGE WELDED 1 

2 002192 SCREW M6x20 1 

3 32S04U05-30-009 LEFT ROOF LEDGE EPDM 1 

4 001001^32S04U05-30M002 w¦..9w twhCL[9 ά[9ah±Y!ά 1 

 
 

http://www.hardcabs.com/
mailto:info@hardcabs.com


 POLARIS 

RZR 1000 

 
HardCabs 630-324-8585 www.hardcabs.com 
2464 Wisconsin Ave. 
Downers Grove, IL 60515                          info@hardcabs.com 

11 

RIGHT ROOF LEDGE ASSEMBLY 

 
 

ID Catalogue no. Description Qty 

1 32S04U05-30W003 RIGHT ROOF PANEL LEDGE WELDED 1 

2 002192 SCREW M6x20 1 

3 001001^32S04U05-30M003 RUB.9w twhCL[9 ά[9ah±Y!ά 1 

 
 
 

http://www.hardcabs.com/
mailto:info@hardcabs.com

